Soustraction Avec Des Zéros (1)

1000
-810

100
- 88

100
-71

1000
- 588

1000
- 301

100
-10

100
- 28

Calculez la différence.

1000 1000
- 876 -523
1000 1000
- 808 - 895

100 1000

-56 -119
1000 1000
- 382 -975

100 100

-72 -96
1000 1000
- 194 -3
1000 100
- 874 -93

100
- 59

100
- 37

1000
- 855

1000
- 889

1000
- 781

100

1000
-410
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Soustraction Avec Des Zeéros (I) Réponses

Calculez la différence.

1000 1000 1000 100
-810 - 876 - 523 - 59
190 124 477 41
100 1000 1000 100
- 88 - 808 - 895 - 37
12 192 105 63
100 100 1000 1000
-71 -56 -119 - 855
29 44 881 145
1000 1000 1000 1000
- 588 - 382 -975 - 889
412 618 25 111
1000 100 100 1000
- 301 -72 -96 - 781
699 28 4 219
100 1000 1000 100
-10 - 194 -3 - 8
90 806 997 92
100 1000 100 1000
- 28 - 874 -93 -410
72 126 7 590
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